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1. Susan is fully-grown and can make her own decisions.

A. intelligent B. mature C. prepared D. juvenile

2. A New York law that specified such benefits was challenged by a New York

insurance company.

A. stored B. donated C. allowed D. caused

3. We had to take issue with our boss over the new project.

A. agree B. introduce C. argue D. produce

4. There must have been compelling reasons behind his retirement.

A. convincing B. ordinary C. uninspiring D. fabulous

5. The classes for the international students are conducted exclusively in English.

A. drastically B. never C. internally D. only



6. Compared with cotton, the cost of cultivating hemp is much lower.

A. importing B. holding C. marketing D. growing

7. TI'm having a hard time putting together the bookshelf I bought last week.

A. assembling B. developing C. producing D. shaping

8. A compromise was not the outcome we had expected.

A. reason B. introduction C. cause D. result

9. That village is going to hold a local flower fair this month.

A. festival B. party C. arrangement D. shop

10. The new PCs are expected to account for roughly 25 percent of the entire

market.

A. recently B. approximately C. occasionally D. completely



